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1.Heat is a form of energy that flows from hotter body to colder body……….
How do you make this complete.
Temperature is defined as a measure of the average random kinetic energy of molecules of a body. 
2.The temperature of a body does not depend on………………………………………………………………………..
3. Define the three laws of thermodynamics
  A. Zero law of thermodynamics
  B. 1st law of thermodynamics
  C. 2nd law of thermodynamics
Which law is a statement of energy conservation for a thermodynamic system?
Which law governs the nature`s direction?
4. A copper wire is 60cm long at a temperature of 150c.What will be its length when the temperature increases to 250c.  ( α for Cu = 17x10-6/0c)
5. A metal rod is exactly 1m long at 00c. If the coefficient of linear expansion is 2x10-4/0c, what is the temperature when the length of the rod has increased by 1mm?  
6. A copper rod (α=1.7x10-5/ 0c) is 20cm longer than an aluminum rod (α=2.2x10-5/0c).How long should the copper rod be if the difference in the length is to be independent of temperature?
7. Determine the change in volume of the block of cast iron 300cm3 if the temperature changes from 150c to 470c.( α for cast iron is 3x10-5/0c)
8. How much water (ice) at 00c is needed to cool 500gm of water at 800c down to 200c?
9. How much heat is required to heat 0.3kg of aluminum at a temperature of 200c to its melting point (6600c) and then to convert it all to liquid? (CAl=0.22 cal/g0c and Hf of Al=76.8k cal/kg)
10. Steel railway lines 30.5m long have to with stand change of temperature of 300c. What size of gaps must be left between the rails to allow for their expansion? ( α of steel=11x10-6/0c)
11. If the Abay River Gorge in Gojjam is steel arch bridge 500m in length, how much will its length change between temperature change between temperature extremes of 250c and 400c? (α of steel=11x10-6/0c)
12. A 0.5kg metal is heated to 2000c and then dropped in to a baker contain 0.4kg of water initially at 200c. If the final equilibrium temperature of the mixed system is 22.40c, find the specific heat of the metal?
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